
Which Bar Graph Is Correct? Name:

In his pocket Zachary has 8 pennies and 4 dimes. Which bar
graph corresponds to the money in Zachary's pocket?
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Show your work

Brayden loves making graphs. At the sphere store he saw 9 grapes
and 5 soccer balls. Which bar graph corresponds to what Brayden

saw?
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Show your work

Darren's mom gave him a chart of the fruits he needs to buy. The
chart has 3 oranges and 6 grapes. Which bar graph corresponds to

what Darren needs to buy?
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Show your work
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Which Bar Graph Is Correct? Name:

Ryan loves making graphs. At the sphere store he saw 10 disco balls
and 3 globes. Which bar graph corresponds to what Ryan saw?
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Show your work

Madison is doing inventory at her sporting goods store. She saw 9
whistles and 6 tricycles. Which bar graph corresponds to what

Madison saw?
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Show your work

In the school gym Jackson saw 6 disco balls and 9 soccer
balls. Which bar graph corresponds to what Jackson saw?
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Show your work
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Which Bar Graph Is Correct? Name:

Lauren likes toy vehicles and made a chart of the ones she owns.
There are 5 planes and 9 fire trucks. Which bar graph corresponds to

the toys Lauren has?
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Show your work

Joshua is doing inventory at his sporting goods store. He saw 6
whistles and 7 basketballs. Which bar graph corresponds to what

Joshua saw?
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Show your work

Abigail's mom gave her a chart of the fruits she needs to buy. The
chart has 5 grapes and 1 banana. Which bar graph corresponds to

what Abigail needs to buy?
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Show your work
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Which Bar Graph Is Correct? Name:

At the zoo Zoe saw 4 sharks and 1 elephant. Which bar
graph corresponds to what Zoe saw?
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Show your work

In Dylan's kitchen there are 4 plates and 8 bowls. Which bar
graph corresponds to the contents of the kitchen?
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Show your work

Gabriel likes toy vehicles and made a chart of the ones he owns.
There are 6 planes and 10 fire trucks. Which bar graph corresponds

to the toys Gabriel has?
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Show your work
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Which Bar Graph Is Correct? Answer Key

Question Answer

#1 choice 2

#2 choice 1

#3 choice 1

#4 choice 1

#5 choice 1

#6 choice 2

#7 choice 2

#8 choice 2

#9 choice 1

#10 choice 1

#11 choice 2

#12 choice 2

CC.2.13

TeachMe, Inc. ©2025 All rights reserved.


